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BACHELOR OF SCIENCE (B.Sc.)

Term-End Examination

v Décember, 2018
=382
LIFE SCIENCE
LSE-01 : CELL BIOLOGY
Time : 2 hours Maximum Marks : 50

Note : Question no. 1 is compulsory. Attempt any
four questions from questions no. 2 to 6. Draw
well-labelled diagrams, wherever necessary.

1. (a) Answer the following in one word/sentence :
' ‘ 5x1=5

(i) In which phase of the cell cycle does
DNA synthesis take place ?

(i) How many moIeculés of ATP are used
in hydrolysing one molecule of glucose
in glycolysis ?
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(iii) Name the organelle found in both

prokaryotic and eukaryotic cells.

(iv) Name the two major contractile

proteins in muscle fibre.

(v) Which type of microscope is used for
viewing cells in living state ?

(b) Define the following terms (any five) : 5x1=5

(i) Protobiont

(ii) Amphipathic molecule

(iii) Codon

(iv) Operon

(v) Gluconeogenesis

(vi) Plasmodesmata

2. Draw neat and well-labelled diagrams of the
following (no description required) : 2x5=10

(a) Ultrastructure of mitochondrion

(b) Clover leaf model of t-RNA
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3. Explain the following (any four) : - 4x21-10

(a) Lysosomes are the ‘suicidal bags’ of the cell.

(b) DNA synthesis on the lagging strand is

dJscontlnuous
(¢) Cell membrane has a fluid structure.
(d) Cyclic AMP acts as a secondary messenger.

(e) Meiosis is a reductional division.

4, Write short notes on any two of the
following : : 2x5=10

(a) AutoradiographyA
" (b) Signal hypothesis

(¢) Regulation of enzyme catalysis

5. (a) Differentiate " between oxidative
phosphorylation and substrate level
phosphorylation giving suitable examples. 5

(b) Explain the role of spindle in chromosomal

movement. 5
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6. (a) Name the enzymes responsible for
transcription of different types of RNAs in
eukaryotes.

(b) Describe the various modifications that take
place in mRNA before it is transported to
cytoplasm.
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